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== A73Y mHE PREN M (128) | ©94134 (b594134) 994137 (6594137)
EES A7 TG 3H(R)| A& 6.5 | A& 5.2
AEES BXE EHAER = F5H] 145 ()| A& 8.2 | A& 6.7
3 [Hx =P BB 25H(CN)| A& 5.3 | AM&RIH 4.5
[ EES 5143y MUTEALEAREH| 3H(B)| A%H 6.6 | MR 5.5
5 [Fx IR+ AR A HAET BHER)| A& 7.9 | A& 7.1
6 [FFK =+ BRI Zzta T i) 1 [ 18H CX) | AR 7.2 | A& 5.7
[EES N4 SiEGIAT 2H(H)| A& 4.8 | MR 4.1
8 [FFK —3v BB ZAaH] 4HCN)| A& 9.0 | A& 7.8
9 |l -FnZHE [V YA (Za) [EBLUTFEHET BHER)| A& 10.8 | A& 9.3
10 [ -=DH[¥7 /3 (Z)  [A)lIBFEERET 4HCN)| A& 10.3 | A& 8.2
(AE=S A+ DG IAT 2H(H)| A& 4.9 | A& 4.2
12 [B= A+ BB 225 H] TH(E)| A& 6.2 | A& 5.2
13 [B= AvY BILmAFRARRR| 146 (£)| ARHE 6.5 | A& 6.1
TE=S Fo4 AL SHOK)| A& 7.6 | A& 6.7
15 [B= Fo4 AU EALLBETRARE | 25HCN) | A& 6.9 | A& 6.7
16 [R= Fo4 —ARmh 25H(CN)| A& 7.1 | A& 6.5
NEE=S 1X BB LU= A FHHET S5HOK)| A& 4.3 | A& 3.4
18 |R= 1X INEEEBAREH] 3H(R)| A& 7.5 76.4 7.0
19 [B= Jv3d alllERG] IE] BHER)| A& 6.2 | AM&EH 5.8
20 [R=E Jvd ==t BHER)| A& 10.9 | A& 9.3
21 [Z Dt EN AR LLITH 2 H] 25H(CN)| A& 4.3 45.1 2.9
22 (2Dt I Bl ERETEE [ 106 (B)| AR 5.4 80.0 4.0
23 [Z Dt =2 ABLLT/\RHE 3H(B)| A& 1.4 | A& 6.0
24 [Z Dt T4 AR Z2AaH] TH(E)| A& 8.6 | A& 6.5
25 [Z ot T L ABEAK 3H(R)| A& 9.5 7.0 6.5
26 [Z Dt T L ABEAR 4HCN)| A& 8.0 [ A& 6.7
21 _[Z Dt T AR EHATET 28H(£)| A& 13.2 | A& 10.8
28 [Z Dt T ABLLI T PR EHET 18HCN) | A& 7.1 [ A& 5.7
29 [Z Dt T BB = A LT 2TH(R)| A& 8.5 | A& 7.5
30 [Z0fth T ALUFEALBARE| 4HCN) | AHEH 7.3 | A& 6.1
31 [Z Dt T Ag)lmiglll T4H(£)| AEH 7.3 | A& 8.9
32 (2Dt T INZERBAREH] 3H(R)| A& 6.4 8.8 6.0
33 [ZDfth YRy —_ARmh 2TH(R)| A& 6.6 32.1 5.3
34 [H30FEXK K (BXK) TG 25H(CN)| A& 6.6 [ A& 5.3
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